LR ek D#EFr E TR I HACER AFEH X LRALIEIS
oM T FE

1T EACLOBRASHRUHE
gz | A 4 [ 5 [ 6 [ 7 | 8 1 9 |10 ] 11 [ 12] 1 2 | 3 [ ZFE&
a 938 882 855 979 902 865 1,108 871 1,027 762 77 927 10,887
ELR Q ||12.687.87(2,419.14|2,337.55|2,744.44|2,626.37(2,332.20| 3,140.41| 2,437.79| 2,973.77(2,094.66 2,165.34| 2,555.88|| 30,515.42
L E R a8 259 357 308 360 189 330 265 279 165 256 253 293" 3314
‘ 520801 754.32[1,024.40| 867.75]1030.99| 535.86] 945.36] 761.11| 797,53 463.85| 733.47| 731.71| 818.33| 9.464.68
£t a 1,197 1,239 1,163] 1,339 1,091 1,195 1,373| 1,150 1,192 1,018] 1,024 1,220" 14,201
" Q |[3.442.19|3,443.543,205.30| 3,775.43| 3,162.23| 3,277.56| 3,901.52| 3,235.32| 3,437.62| 2,828.13| 2,897.05 3,374.21" 39,980.10

2 WFRIKKESHIER

(BRAIE)
[ STEDNZ | Bfy | ZEB |48 |58 | 6H | 78 [ 8A | OA [10A|11A[12A] 1A | 2H | 38
KFRAFRE|pH 58~86] 68 71| 6.7 66 69 64 64 62] 68 71 66| 7.0

EPEHBRRERE|mg/L 20LLF 27| 66 86f 65 78 34 6.9 1.3] 68 23] 14| 25
EEHBEERE|mg/L 1604 24 37 35 49 39 48 50 56 42 40 18 23

FHEYESE |mg/L J0LLTF 11 13 11 3 161K i 2 2 4 13 6 10
B AA > Img/L - 60 79| 130 110 130 50[ 100] 55| 81] 140 75 90
BERIEEE [ms/m 96 170 190] 200[ 200[ 110| 180 120 140 200 130| 180

KiEEEEER |{8/cm J3000LLF 0 0 0 0 0 0 0 0 0 0 0 0
EF2H= |me/L - 170 480 140 140[ 130 100] 100| 100[ 120 190] 140 180

BEEE |me/L - 1.10] 1.80] 0.46] 0.35] 1.70] 0.09] 0.35] 0.28] 0.43| 1.20] 0.39] 0.64
BE E | - 75] 84| 60| 50 65| 22] 70] 40] 24] 60 42| 56
=] 48168|5878|6A4B|7H28|8A68[9A3B|[10818|11A58]|128128|1§7R|2H4R|383R

3 MK ZEBE DR (BRKKESFICMATTRIEBZ2HT)
(F2ERFE 7. 18

SEONR | By | BEE |48 |5A | 6A |78 |88 | 94 [10A|118|12A| 18 | 28 | 38
iR EA A E|mg/L 0T | - - - [1Xi& - - - - -1 - -
ToE=THER|mg/L - - - - 70 - - - - -1 180 - -
EREMMEER|me/L - - - - [23.00 - - - - -1 3.20 - -

WHEREER |me/L - - - - [ 170 - - - - -[ 300 [ -
TUEST.TUECTIE R
., BRI AW E|mg/L - - - - 53 - - - - -| 82 - -

UHHEILEY
Jx/—)L$E [mg/L 5LLTF - - N IRES - - - - —lo1%i - -
[ EAE [me/L | SMIF | - | - | - [oo1 - - - [ -[ookm | -

BINEESE |me/L 2U°F | - - - [0.025 - - - - -] 0.01 - -
AEESREEEImg/L 10LLF - - - 0.09 - - - - -| 0.31 - -
BREwLvaEE|mg/L 10LLF - - - 0.02 - - - - -| 0.04 - -
JOLEHRE |mg/L 2LLF - - — [ootx& = - - - —[ooixm - -
FHARGIEEYW|me/L  J0.03LLTF] - - — | o003kt - - - - —[ 0003 - -
LT EEY me/L 1LLF - - i AL - - - - i LAESC - -
ARBEIEEY|me/L 1T | - - B EES - - - = BES — —
BERVCEED|me/L JOILT| - - e - - - - “loorwm - =
Afiva Lt E%Img/L 05LLF - - e - - - - o LES - -
HEEVIEEW|me/L 0.1LLF - - — | oooskis - - - - — [ 00055k - -
KEERUVTILFIL
7}<£&%1€>A1ﬂig>7kﬁﬁ mg/L  [0.005LATF| - - = [oooosis - - - - — | 00005k - -
[F5RBRTIEEY|mg/L 10LLF - - - 0.08 - - - - -| 0.06 - -
SoRBRUMEEMImg/L 8L - - - |01k - - - - BRES - -

¥ EYH — - - |7828] - — - - - 11A7R| - -

4 [FVERIERER
(F2EAE 68, 128)
STE0Ox% | Bfu |48 |68 |68 | 7B [ 8H | 9A |10A|11H[12B] 1B [ 2A | 3H

FVCAERE |e/mN - —  |ootkm| - - - 0.048] - - -
BEBIEYERE]ppm - - [1xiE - - - - - 20 - - -
ERRIEYMEE]ppm - - 15 - - - - - 12 - - -

FRERH - - |6A48 - - - - - |12A38 — — _




5 ELRKEDTHER

(F3EAE 5. 98.18) _ _ _ _ _ _ _ _ _

51'%0)?\]‘_% B 48[ 5A 6B 781 8A |1 9A [10A[11A[12B] 1A | 28 | 3A
KFEAFEE|pH - 76| - - - 77 - = = 86| - =
ErnBRERE|mg/L - [7600] - - - [ 2500 - - - | 1900 - -
Tt ZMEEREERE|mg/L - [15500] - = - 1,300 - - - [2,100] - -

FEmEE |me/L - [3700] - - - [2600] - - - [4800] - -

ER2EH=E |mg/L - [1,100] - - - 1,100 - - - [1,800] - -

Heas  |me/L - 150 - - - 62| - - - 110 - -
REZEY |meg/L - [7200] - - - [9,100] - - - 9900 - -
REGEREY |me/L - 4600 - - - [2200] - - - [2,100] - -
mEE] - [5A78] - - - [9R38] - - - [1A7E] - -
6 BBERKESHFER
(Z£3EAIE 58.98.18)
j%om‘_% By 48[ 5A 6B [ 781 8A [ 9A [10B[11A[12B] 1B | 28 [ 3A
KEAFEE|pH - 80| - - - 82] - = = 82| - =
EENBRERE|mg/L - [3200] - - - 1,200 - - - 990 - -
L ZMBmRERE|mg/L - [1,000] - - - 760] - - - 800] - -
FENESE |me/L - 350 - - - [1500] - - - 300] - -
ER2HE |mg/L - 910 - - - 820 - - - 730 - =
HEasE  |me/L - 100 - - - 46| - - - 130 - -

ZFEZEEY |meg/L - [4400] - - - [4000] - - - [1,900] - =

| SREGREY |me/L - [1800f - [ - [ - [2900] - - - _[1100[ - -
H#ERAB| - [5878] - - - |e9g4BR| - - - |1A78] - -

7 BRKEBREBHAITER

(F1EAIE 68)

H=DOxiz | #2i |48 |58 168 | /H | 8A | 98 |[10A|11A]128] 1A | 2R | 38
7ILEILKBIEEM|mg/L - —  [oooskim| - - - - - - - - -
KEEXIF{E & me/L - —  [oooskia] - - - - - - - - -
AIVLARIFEEY|me/L - - Jootkm| - - - - - - - - -
X (FIEEW|me/L - — [oorxm[ - - - — — — — - -
HHEEEY|me/L - i CAE ] - - - - - - - -
ANE/OLEEYImg/L - - |ootkiE[ - - - - - - - - -
MEXZIEED|me/L - — [oooskm| - - - - - - - - -
ST BB me/L | - | - Jo=ws - | - | - [ - | - [ - -1 -1~
RUEETz= )L mg/L - —  |ooooskm| — - - - - - - - -
r)oonTFLo|mg/L - - Jootkm[ - - - — — — — — —
ThIoaRTFLY mg/L - - |oorkm| - - - - - - - - -
oyaooXiay Img/L = — ook - = - - - - - - —

migibikE [me/L - — [oonkm| - - - - - - - = =
1,2->4a0x4>|mg/L - —  |oooskim| - - - - - - - - -
1,1->90aI4  mg/L - - |oo2kE| - - - - - - - - -
Ya-1,2-Y"9a01Fbymg/L - —  looaxkm| - — — - - - - - -
1,1,1-bJ90014Y|mg/L - - o3k - - - - - - _ _ -
1,1,2-M)40014Y|mg/L - — Joovsskim| - - — _ - Z - = -
1,3-%"9807°'8A U mg/L - - |ooozkim| - - - Z Z Z - = -

F5L  Img/L - —  |oovskm| - - - - - - - - -
2Ty |me/L - - [ooosm| - - - - - - - - -
FARHIL T |mg/L - - loozkm| - - - - - - - - -
Ryt mg/L - — |ootkiE| - - - - - - - - -
Lo XIFEEB|meg/L - — [oooskm| - - - - - - - - -
14-OFF Y2 me/L - - |ooskim| - - - - - - - - —
FWRE]| - - [6B4B] - = = = = = = - -




